[image: image1.png]304 Part 4 The Capital Budgeting Process

TABLE 11-2
Excerpt from Standard & Poor’s Bond Guide
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Source: Standard & Poor's Bond Guide, June 2000, p. 139,

Kq (Costof debt) =Y (Yield) (1 —T) (11-2)

The term yield in the formula is interchangeable with yield to maturity or approxi-
mate yield to maturity. In using the approximate yield to maturity formula carlier in
this section, we determined that the existing yield on the debt was 10.84 percent. We
shall assume new debt can be issued at the same going market rate.? and that the firm
is paying a 35 percent tax (a nice. easy rate with which to work). Applying the tax
justment factor, the aftertax cost of debt would be 7.03 percent.

ad-

Ky (Costof debt) =Y (Yield) (1 = T)
= 10.84% (1 — 35)
= 10.84% (.65)

=7.05%

2Actually the rate might be slightly lower to reflect that bonds trading at a discount from par ($940 in this case)
generally pay a lower yield to maturity than par value bonds because of potential tax advantages and higher lever-
age potential. This is not really a major issue in this case.




